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CERTIFICATE IN GUIDANCE (CIG)

Term-End Examination

June, 2010

NES-101 : UNDERSTANDING THE
ELEMENTARY SCHOOL CHILD

Time : 3 hours	 Maximum Weightage : 100%

Note : (i) Answer all questions.

(ii) The weightage for each question is given against it.

1.	 Answer the following question in about 30
1000 words :

Explain the term guidance. Discuss the various
techniques that can be used to observe and assess
children to provide guidance. Enumerate the
factors that have contributed to the need for
guidance in the current scenario, with reference
to a school set up in an urban area.

OR

What should be the aims of guidance programmes 30
at the Elementary School Stage ? Describe the
various guidance services that can be made use
of by the school to bring out the best in the child.
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Answer the following question in about 30
1000 words :
Discuss the development of an elementary school
child. Explain the interrelationship among these
aspects of development.

OR
What is a developmental task ?	 Discuss the 30
developmental tasks suggested by the psychologist
Havinghurst for children between 6-12 years.
How can these developmental tasks be fostered
among the children.

Answer any four of the following in about 40
250 words each :

Discuss the development of teeth in
children.
Distinguish	 between	 Perceptual
Characteristics and Motor Characteristics
with the help of examples.
Discuss any three qualities that you would
like to develop in children for moral
development.
Discuss the physical and health problems
of elementary school children.
"Nutrition is an essential basic factor that
influences growth and development of the
child". Discuss this statement in context of
children at the elementary stage".
Write a short note on the role of nature and
nurture in the development of children.
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